arr - 31/ SECTION - A

F 1 YRETRE =i & W R e WM F oenvm WS Yew s ¥ fear soE
/ T Hifa |

State the observation made by oersted on the basis of his experiment with
current carrying conductors ?

5\/ ST i & = ae § 7

What is meant by tropic movements ?

% J/ AR F  woae giv 39 fieu W W e st fafa

Mention the main purpose of using a plane mirror in solar cookers.

C/ werd * X' o e o eud o e § fean e
(a)  EE X AW AR sEe g fafan)
(b) X =l v | Al =1 dyfea weEtE gt F w9 1 o9 S
A solution of substance ‘X’ is used for white washing -
A4  Name the substance ‘X’ and write its formula
‘J{b'] Express the reaction of “X" with water in the form of a balanced
chemical equation.

5. Fry fafan -
(a)  wifeaw ug =1 fFifes & gamm v s
(by iy wiwd o1g @9 g0 o UgmtaEe @ s w9 | fe w
2l

C, Give reason :
Sodium metal is stored under Kerosene oil.
é@,, Inspite of being highly reactive, aluminium is still used for making
utensils. ;

_'Pj/ 2 HE A9 H 5 v faaErw ¥ 9 fagsdl % e @ W@ g fe en aen 5
' 4 Fife |

Find the work done in moving a charge of 2 coulombs between two points
having a potential difference of 5 volts.

P A uw Rl § sfaane § wee & e avdt s At 2 aeEteEl @ g e
HTIRO q T2 o T 77 1 IeorE St |

List two precautions to be taken to avoid cverlﬂading in the domestic circuit.
Also state one difference between over loading and short circuiting.

J/ STEEA- AT (i) Sl F £7 s o w1 gfie u T e

3
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.. ‘hat is oxidation - reduction (redox) reactions? Justify your answer by
writing one such chemical equation and name the substance oxidized and the
substance reduced in it.

, o
T Fifory e SvaTaa wE srwfan goel % A faa) r{“f
DN
L ]
My

9. ardt aw s sifafeme F faden wifen) dafea vomafe e 3
R

Differentiate between an exothermic reaction and an endothermic reaction.
Write one example for each one of these reactions in the form of balanced
chemical equation.

7 B ¥ AR W ¥ e w9 o e S 80 9 A sifife o 3
Tt fafEe | 39 wems 1 AW fSfen s saw 92 99 5 91 gerEd o w5
T E :

What happens when a solution of baking soda is heated? Write chemical
equation for the same. Name the product which is responsible for making the
bread or cake spongy and fluffy.

1L //~r= 2w sl 3 wafaa ramafT gdte fafeg 3
(a) & W = A H W fomar = g
(b) = SgiatEy F A E e e e
() == ugfafam siee Sfcan megiure 4 afufen o i
Write balanced chemical equation for the following reactions:
/ (@)  When copper is heated in air.

{b) When Aluminium is heated in air.
{c) Aluminium oxide reacts with sodium hydroxide.

£
P - fem 7w 91 =1 wfiiliy ‘R 376 w0 F fow oftgy e =1 e 2 fedt fearsem 3
F1 Ieord wifAm | 200 9EEY F R widys ¥ 02 A W wElEa @ @

gy & fou & e SYarat 9@ Sifan

State with the help of a circuit diagram an activity to find the resistance ‘R’ of
P a given wire. A current of 0.2 A passes through a resistor of 20{. Find the
ntial difference across its ends.

fodll uhet Hid § @gd ¥ fawg Ao w1 W G S ¥ A 9o e Afve 3
HE Ve 0T - A0 H w0 W see uwd # waEtw we W7 S I

=1 g & fae s fafe ) 39 ven & H9mm & <1 @ & g2 9aEg |

A number of bulbs are to be connected to a single source. Will they provide

more illumination when connected in parallel or in series? Give reasons to
justify your answer and also list two advantages of this type of arrangement.

-t A <item & forg swntt 3% < fomp Wit & am fafey 5 e 9 = 3
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P Name two electrical appliances of daily use in which electric maotor is used.
Name and state the principle on which an electric motor works,

o B

(b)

()

TR 3T H T ERGEIE v ¥ 21 Hrl w9 gt )
FEHRT HYAU T sqevas =t weiet 3 am fafa

List two functions performed by dilute hydrochloric acid in our
stomach.

Name the raw materials required for photosynthesis.

AR (F0) i e Wi oo 32w ok e amitea
Fifawi
dfAeh1 i % 39 4 %1 7 fafag

‘_/w TR AT TR

iy TR B g e e ¥ v T e #)
Draw the structure of a neuron and label the nucleus and cell body.
Name the part of a neuron -
~{  where the information is acquired.
\_@ through which information travels as an electric impulse.
i fow e st # e et wfE g, b, c 741 d & Tg=H HIfaT |
T d 3 5wl #5 HHEl TR ;

)

o= |

Identify the endocrine glands a, b, ¢, d in the given diagram,
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%/} List the functions of parts d and {

387 v ol ol @ e 87w v TR v R v e

P

3ot = <) Wi e

What is meant by wind energy farm? Write one of its practical applications.
Give any two limitations of using wind energy.

gﬁmﬁﬁﬁmBﬁﬂaﬁﬁmﬁww: U235, H F =M :

(a)  IfERIE HEH,

(b) EESEA W % fo SugE ®1 WS W § € gl sifufean &1 M
fafay| M whr =1 sfufmmei % &= 1w o= fafaw)

Cut of two elements A and B with mass number 2 and 235 respectively, which

one is suitable for making -

(a) a nuclear reactor

(b) a hydrogen bomb

Name the nuclear reaction involved in each case. Write one difference

between the two types of nuclear reactions.

Ay gl F 99F SE F@ 999 7F Gl 9IS of W 9% I 96l 1 FHE
forn satert uftme = A fafau) w@ & W S o € 91 99 a6 9t &5
7™ fafge ) Wb =7 WerEm | 9a 3 S St iR @i | 51 o o fog |y
1 Tt W Sulefy gEvEs ¥ SwEm 2 A IUE 1 Amied S s
difgu | #i ™ S 3§ S % & I9E F gE 9mE |

C Most metals get tarnished when left in open for some time. Name the
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phenomena responsible for this. Name the compound formed when iron
rusts. Explain briefly with the help of an experiment that rusting of iron take
place in the presence of air and moisture. Draw and label the diagrams also.
List two ways by which rusting of iron can be prevented.

3TeET/ OR

G FR W G KR WG H F ufEm 1 am fafaw uftsmo § IuEnT @9
mﬁmaﬂmﬂmmmmaﬁémﬁmﬁmi i FI &
mmﬁwmw&wﬁwﬁmﬁmﬁsﬁmﬁnﬁaﬁmﬁ@

Fifey |

belled diagram of the apparatus used and explain the process. State the

‘(7 Name the process used to obtain pure copper from impure copper. Draw a

anges made in the apparatus if silver is refined in place of copper using the
//AAMe process.

7

E}/'f/ (1)

o £

@

(@)

vl < Frfafan vamfe ot & for e Hegfed TEMEfE e
ﬁ‘fﬁ'ﬂf{ ;

() = HE v Rt uig | afufea s

(b) T H 37 Tt g ¥ anweete § afilw s :

(€) 9 whIg e ot e & sxfufirar @ 2

@t faerl A, B W6 C % pH 91 %7 5, 8 4 10 ¥1 T fead gt 59
i FAH A 1 3 A frermt B wwh % oTR W sy s
MR H aifieRg st |

Write balanced chemical equations only for the following chemical
properties of acids:

(@)  when an acid reacts with a metal

(b)  when an acid reacts with a metal bicarbonate

(c) when an acid reacts with a base

Three solutions A, B and C have pH values 5, 8 and 10 respectively.
Amongst the three which solution has maximum hydrogen ion
concentration? Classify the nature of the three solutions as acidic or
basic.

Tear/ OR
T & it T wE = e i
373K . I 3
CaS0,.2H,0 —=2 CaS0,. 5 H,0 + = H,0
ﬁﬂmwwmm%@wm%ﬁmﬁnaﬁmﬁmj

A 3w T @il w1 fmfor fast aver 5t et am @ Hfufmm gr g ¥

(i) Hifeay e
(i) oY AR

ﬁﬁﬁﬁﬂm’aﬁmamwmaﬁqﬁﬁwmﬁuﬁq:
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(a) Study the following chemical equation : -
1 3
CaS0,.2H,0 —3BK ; ¢a50,. — H,0 + = H,0
= 2 2

Name the reactant and the product and mention one use of the
product.
() The following salts are formed by the reaction of an acid with a base:
{i) Sodium chloride
(ii) Ammonium nitrate
Identify the acid and the base and tabulate your answer in the format
iven below.
S.No. SALT ACID | BASE | NATURE |
(1) | Sodium chloride
(2) | Ammonium nitrate

3 et A T B foes wie w50 a9 100 # veet wvd J R fe o F
FH-a § 20 VF Ha ¥ wEfe S em €

(2) Sl WERT % fQ HaeE i g9 % o iy s gitag

(b) = & form g4 | w@s A 991 B % ol W dieza w9H 20t 2

() ¥ ¥ form daeH | =i A 991 B | 59F g wEifed Eef 7

(d) W s % fau g windy ofsfom wifm )

Two conductors A and B of resistances 5 Q and 10 @ respectively are first

_joined in parallel and then in series. In each case the voltage applied is 20 V.

(a) Draw the circuit diagram to show the combination of these conductors
in each case.
(b)  In which combination will the voltage across the conductors A and B

be the same?
(c) In which arrangement will the current through A and B is the same?
(d) Calculate the equivalent resistance for each arrangement.

OR

(@) Faf faga wow % o aor fagg go 5 fon 3wm fae 97 a9 o) 5
T ferega wanfed 2t & for ot Shawr a=g & =wear €1 F46i 2

(b)  ®ea % A=l 1 A9 FEEG THT 2700°C o 2, 99 fE 97 39 3= A W
STel 741 g o ?

() Tedt forem o7 91 g 91 B 99 SUIRT fET S WY 0.25 A 8 39
e €1 ufiey § varfed s e i

(d) et fogm ot 7 220 V W oiAaiE 2 kw §1 39 TR & foQ AEvEs
fere[a g =1 ermar wiishierd i)

(a) Though same current flows through the electric line wires and the
filament of bulb, yet only the filament glows. Why?
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23.

(c)

(d)

The temperature of the filament of bulb is 2700°C when it glows. Why
does it not get burnt up at such high temperature?

The filament of an electric lamp, which draws a current of .25 A is
used for four hours. Calculate the amount of charge flowing through
the circuit.

An electric iron is rated 2 kw at 220 V. Calculate the capacity of the
fuse that should be used for the electric iron.

FlE B TH T A WhE FE F W IR I0F w1 A UH 95 JEF
T €1 T 98 38 99w % 9N i UF 99F ©9 § @8 @9 gewmd §1 39
TFEE - SR A F quMTH W e EA S e T s T

fain fe & saaftem o2 @l €1

(a) @ Yo e S W rafer =i @ e g7

(b) TEw % A W EE W st an o uwlha g e frefig s e
(0 5w % sfew &ie e gifey dnt & aw = el e §2

(d) Toet o5 =% F IR R gEEia g9 i gu F e e d@ifa

() S & vaii % & 1 fefen

A student fixes a sheet of white paper on a drawing board. He place a bar
magnet in the centre of it. He sprinkles some iron filings uniformly around the
bar magnet. Then he taps the board gently and observes that the iron filings
arrange themselves in a particular pattern.

N

v
9
<)

(a)

(b)

(d)

+(a)
(b)

Why do the iron filings arrange in a pattern?

What does the crowding of iron filings at the end of the magnet
indicate ?

What does the lines along which the iron filings align represent?

Draw a neat diagram to show the magnetic field lines around a bar
magnet.

Write any two properties of magnetic field lines.

3T/ OR

el e & H SR fon oew fem %1 = @ W 9% 99 aWim
B ? A9 IR ! SR Higd qfe wifee

T & 7 feum T = W At =9 3 e R e W R
A E 7 '

i wfiferadl § grasr &9 ¥ fom S meE 9ws w afiwa a9
SR € € 2

THEEE &7 H [ aRETEl Ses WA a9 5w e w6 aw
o =1 9m w3 Fam fafgu)

A stationary charge is placed in a magnetic field. Will it experience a
force ? Give reason to justify your answer.
On what factors does the direction of force experienced by a conductor
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when placed in a magnetic field depend?

Under what conditions is the force experienced by a current carrying
conductor placed in a uniform magnetic field maximum?

Name and state the rule which gives the direction of force experienced
by a current carrying conductor placed in a magnetic field.

S St 03 &1 S0 GaEt [A=iaiEd & AT ST

(@) T
(iiy I AR

(iii)  AEE

(iv) HeEnym

O 954 % Y F1 oo i

T Rl < vl w1 A fafay foaew sata Ravie geEr] #
AR W H B e

B {a) Draw human excretory system and label the following parts: -

i) left kidney
\ﬁ{ Urethra
_/(i—'ri‘}/ Urinary Bladder
{iv) Venacava
(—b/ State the purpose of making urine.
(c) Name any two substances which are selectively reabsorbed from the
tubules of a nephron.

379ar/ OR
(a) HFE % YIEA 99 $1 FAGE Gigw FEfafad 9 & i S
(i)  vEEfE
(i)  SHIe 5w
(i) A
(iv) eEwH

(b)  TFREE H Hea 91 I AFNE AGTE @A B Hi 2
(c)  =FE ¥ Sufeed vaua avis @1 919 f@faw 991 38 S =1 Seei Sifeg
forad = swfts 2mm &)

(a) Draw a neat diagram of human respiratory system and label the
R) fellowing parts : .
(i} Bronchioles
(i)~ Rings of cartilage
(i)  Pharynx
(iv)  Diaphragm
™—"(b)  Why do lungs always have residual volume of air?
—{T) Name the respiratory pigment in human beings and state the cell in
which it is present.
v - 5/ SECTION - B
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5 B w0 Ak faead § araid F1 wie 2o § 9 9w U w § e 1
(a) o= Fien & ww ® &R Fiel © = W 76 s

(by  fae== w20 8 = § 3R FiEl W HE T w6 edn el |

(¢) famms Twm 8 S € o el W o I o S E

(d) TaeEs Wi e @ wE E el Fiel W W wa T a9 g

When iron nail are put in copper sulphate solution, we observe that the

{a) solution remains blue and no deposit on the nails is seen
(b} solution turns pale green and no deposit on the nails is seen
(€) solution turns colourless and brown deposit is seen on the nails
(d)  solution becomes pale green and reddish brown deposit is seen on the
nails
wF dE § Fo T g g o o0 amyr yaw - o s faemn T g 1
TR WaIOT 1 W EH e I E R

(a) = diem 7Y & T e 6

(by S ST = E

(c)  E ufiEed & g ¥

(d) st g T R

In a beaker quick lime is taken and some water is added slowly and carefully
to it. If we now observe we find that

(a) a pungent smelling gas is evolved

()  brown vapours evolve

(c) no change takes place
(d)  the beaker becomes very hot

Hel A H o NaOH e o siae B o g 1@ w81 =8 wei fae o 1
pH T3 e 9 & @ A 991 B H fomn 37 A e g €

(a) e TE Hall

(b) e eE T

(¢) @@ ud e

(d) sUTH A

Bottle A contain dilute NaOH solution and Bottle B contains lemon juice.

When pH paper is added in éach of the solution, the colour seen in A and B

respectively are:

(a) Blue and orange

(b)  Blue and Green

(c) Red and Blue

{d)  Greenand Red

= Al § A, B, C 741 D foems it € 5% pH 99 99 5,6, 7 W 8 €1 1

faerail =1 wfa T F3 & gR1 T T 31 FA: e
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31

(a) o, dien, &4, Hten ww

(b)  Had, T, B, e '

(c) &0, e gy, &, Jad

(dy  ien zu, wU, q9o9d, o

Four bottles contain solutions A, B, C, I). The pH values of these solutions are
5. 6, 7 and B respectively. To find out the nature of the solutions, they are
tested with universal indicator. The colours shown by them are in the order : -
(a)  orange, yellow, green, bluish greert

(b) orange, red, green, bluish green

(<) green, bluish green, red, orange

(d) bluish green, green, orange, red

w4 difean aEHEre § eEeEiie o foem &

(a) i A T Fremor § 9 99 % O % gf e A E

(b)  ite e w6t ol T et £

()  =ig Tmee i Frered o g9 % ot o S geE T a
(d) =i TmeE e Freme & O oy et 9 se #)

When hydrochloric acid is added to sodium bicarbonate we observe :
(a) a colourless gas evolves which turns lime water milky

(b a brown gas with a pungent smell evolves

(c) a colourless gas evolves which has no effect on lime water
(d) a colourless gas evolves which burns with pop sound -

tafafran Hethe s HioT Bethe % 09 o Sel e wee whE g
(a) T SR Hen

(b) Rl g0 3R Hen

(c)  wiem SR Wi B

(d)y TR R v

Freshly prepared aqueous solution of aluminium sulphate and copper
sulphate respectively appear:

(a)  colourless and blue

(b)  pale green and colourless

(c) blue and pale green

(d)  colourless and pale green

@ R S F1 @i a e wede faergn J gh o € @ 59 9 e
YT i T Fg I W

@) Toem v T

(b) i afufer 9 & €

(c)  forera Wi &0 1 AT € A AR I el I Y8 T YA 6 T ¢

(d) Toemm e @

When an iron nail is added to zinc sulphate solution it is observed after some
time that
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33.

34.

{a) the solution turns pale green
(b} no reaction takes place
() the solution turns pale green and the surface of iron nails becomes

silvery white
{d) the solution turns blue

fam 139 1 ¥ =9 o gy § Seedter =1 wegis 2
2V 2V

—( ——A)— {—*h—u——@— *

Attt
Lo
I I
(a)  ufmE1H 2 VA eieg DH oV
(k) <A wfedi v
(cy =i uftesi H 2v
() oftwy1Hovam aRugnH 2v

For the circuit shown in figures I and [I, the voltmeter reading would be :
2V 2V

HFO—@5 o=@

I 1
(a) 2 Vin circuit I and 0V in circuit II
(b) 0V in both circuits
(c) 2V in both circuits
(d) OV in circuit I and 2V in circuit II

fordt Trdiiex % iR W 0 B 991 1.0 A Tog % &= 20 avER 9 €)1 39 UHi F
FETHIF B
(a) 0.02A by 0.05A

(c) 010 A (d) 0.20 A
An ammeter has 20 divisions between 0 marks and 1.0 A mark on its scale.

The least count of the ammeter 1s ;
(a) 002 A (b) 0.05 A
(c) 010 A (d) 0.20 A

@ =@ X, Y 791 Z fRet wides & vanfes um =1 3w f5d %« fayars ®
frsfta =1 e & F0 & fAg Wb s ey T (A) 924 (B), Fei (K) a9
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35.

36.

ur fra=e (R) 1 9ft wm F i faw o A fafus wdi & g4l s d
X—=BKRA,B

Y —>B A KRB

Z3BRK A B

o ofiey sragal =) 9w F daifea fean

(a) X
(b) Y
€ Z
(d) =\t

Three students X, Y and Z while performing the experiment to study the
dependence of current on the potential difference across a resistor, connects
the ammeter (A), the battery (B), the key (K) and the resistor (R) in series, in
the following three different orders.

X—+BKRAB

Y->BAKRB

Z—BRKAB
Who has connected them in the correct order?
@ X
(b) ¥
(c) i
(d) All of them
A= gwie Te wieT & WEer 1 e Hihg 3TR o9 3 YRR B TEef 1
=1 aE o FaifeE §
A -
401
20 30
AP ———e
50
@ 20330
(b) 30940 i
(€ 30350 S
o
{d) 209510 “9‘! LS

Study the combination of resistors given below and find the two resistors in )~ %o
parallel combination.

T T,
411 >
\II{"
2 fk 30
AANA, .
51}
{a) 20and 31}
() 30and40
(c) 3and 51}
({df 20and50)
4 T e ufiey s § 4oit F wEifem € gfdlasl % ddsm w0 ged wiale 1

fruifia = =1 Gt =aea § fafie 9fivy s@gg ooic &1 =99 9fuy
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37.

Hega X, Y ad Z wav: Fefm ww ¥

K
+ P
I b

AAAA—AAA—

)
A
(a) oW FrEs, g, T
(b) Ui, Hieedier, W s
(c)  dAreeHim, UHRR, gw FEEs
(d) g frass, U, deedes
The given circuit diagram shows the experimental arrangement of different
circuit components for determination of equivalent resistance of two resistors
connected in series. The components X, ¥ and Z shown in the circuit
respectively represent :

+ =
I .

AN %—l
Z

)
T
(a) Rheostat, Resistor, Ammeter
(b} Ammeter, Voltmeter, Rheostat
(c) Voltmeter, Ammeter, Rheostat
(d)  Rheostat, Ammeter, Voltmeter

Fd

®

"y vere & T v smEvas 1 gvie % wEm § g9 Mg e § o
o =Y 2-3 e o SE H v o #1 UE e w6 Wl R

(@) T R w

(by =TT e

(c)  ufedi =1 TEEH | ==

(d)  wemsHi @ fagfoga w0

In the experiment to show that ‘Light is necessary for photosynthesis, the
selected potted plant is kept in darkness for 2-3 days. This is done to:

(a) protect the plant

(b) destarch the plant

{c) prevent welting

(d)  denature the enzymes

* TRT9T TGV o TIT U AEYIE &' T WA I i & e frafefaa 9 4@
forg=t smavasar e ol
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39.

(a) =T e O

(b) el TS gl

(c)  HgTa gemee

(d) @IS

Which of the following is not required for the experiment? To show light is
necessary for photosynthesis-

(a) destarched plant

(b) Black strips of paper

(c} compound microscope

(d) water bath

i 1 s % fow uat =1 et @ e AR TAR S wh e faemed
1 grEwfET St mﬁ{f{ 98 TEf 1} '% :

(a)  wEE TiE @ A ey )

(b)  Toeedl arsft A€t ¢ weht & <A e

(c) T =1 siys afvifse =& w0 =few)

(d) U0 gt

Precautions that need to be taken by a student while preparing a temporary
mount of a leaf peel to show stomata is/are

(a) the slide should not be dirty

(b)  peelshould be taken from freshly plucked leaf

(c) leaf peel should not be over stained
(d)  all of the above

= gt 7w 1y for o e o S W oam T gut T E

L]

(a)  Fifrerei =1 i faes
() =il F Fifve fufmt
(c) &R HiwRl & Few

(d) R FfvEeEl o e

In the diagram of the stomatal apparatus given below -
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41.

Which one of the following is missing?
(a) cell membrane of the cell

(b}  cell walls of the cell

{c) MNuclei in the guard cells

(d)  chloroplasts in the guard cells

'THHA % 2 CO, Frerdt §" wt wEifE wEe § veEeR wnRE § KOH
FE SETaEES Hi el L o ¢ SR A T § S 1 W S S S
T T HR

(a) R W AiEm A SN

(b)  wemER ¥ faEEw

(c) v H S e B

(d) S i

In the experimental set up - ‘To show CO, is released during respiration’,
KOH absorbs CO, in conical flask and there is rise of water level in the bent
tube because of -

(a)  concentration difference in flask
(b) diffusion in flask
{c) creation of partial vacuum in flask

(d) all of the above

“yaE & SRE CO, fraewdl €' 39 WM F1 w1 % fau eevas am @t gt
A g

THH W AT A R
(a) IREE ]

(b)  SHHRE i

() TR

(d) e

A list of materials required for the experiment - ‘CO; is released during
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respiration’ is given below.

Conical flask, KOH solution water in a beaker, delivery tube, and one holed
rubber cork, Vaseline, thread, test tube.

The missing component is -

(a) glycerine

(b) germinating seeds

{c) lime water

(d)  oxygen

-00o-
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